REV

20130308_ITRm_Assembly

D

o

\"4 |
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 20130308_ITRm_Rotor-Pump 2013 ITRm Rotor - Pump 1
2X @ .313in[7.94mm] T .580in[ 14.73mm | 2 20130308_ITRm_Front_Block 2013 ITRm Front Block 1
3/8-16 UNC - 2B ¥ .750in[ 19.05mm | 3 20130308_ITRm_Back_Block 2013 ITRm Back Block 1
' @ .425in[10.80mm] X 90°, NEAR SIDE e 4 20130321_ITRm_Rotor_Front_Bearing |Graphalloy 2" OD x 1-3/4"ID x 1/4" long bearing. 1
5 20130321_ITRm_Rotor_Back_Bearing |Graphalloy 2" OD x 1-7/8" ID x 1/4" long bearing. 1
@ 313in[7.94mm] T .760in[ 19.30mm] 6 20130321_ITRm_Thrust_Bearing Graphalloy 2.010" OD x 1.760" ID x 0.085" long thrust bearing. 1
3/8-16 UNC - 28 T 7'50m[ 1o O'Smm] , I 7 91563A135_3-8_16_stud_X_2_3-4in  |Stud 3/8™16 Thread, 2-3/4" Overall Length - McMaster Carr P/N 91563A135 or equivalent 6
: ' ' : 8 95922A130 Serrated-Flange Hex Locknut 3/8"-16 - McMaster Carr P/N 95922A130 or equivalent 6
' @ .425in| 10.80mm | X 90°, NEAR SIDE = : .
? | [ ] //// A 9 AS568 - 151 Silicone O-ring - McMaster Carr P/N 9396K172 or equivalent ]
©3.188in $2.760in E
[80:98mm] [70.10mm]
o-ring OD
r‘éE
]
=97/ NN\
7 )
B 5.000in B = l
B [127mm ] -
TOP VIEW SECTION D-D
SCALE: 1:1.5 SCALE1:1.5
.00Tin . 00lin | ISOMETRIC VIEW
[0.03mm] [0.03mm] SCALE: 1:2
.254in .084in
[6.45mm | [2.13mm ]
.130in 254in
[3.30mm)] [6.45mm ]
3.240in ) _
[82.30mm] 068in > ~.125in
B B 1.240in [].71mm] >A ! [3.18mm]
® .703in[17.86mm] ¥ .700in] 17.78mm] | 2000n | [31.50mm]
1/2 NPT [50.80mm | DETAIL F - Front Bearing
@ .890in[22.60mm | X 90°, NEAR SIDE SCALE?2: 1
B DETAIL E - Back & Thrust Bearing
. . ALE 2 : 1
| @ .250in[ 6.35mm] T 2.500in[ 63.50mm | 3¢
| —1/4 NPT ‘ Y07 V%
N @ .590in[ 14.98mm | X 90°, NEAR SIDE /' \
C _ C 7
| ~ | | — / \
&) l I L
4440 DL JD ®2.010in $2.010in
' 1. 1. D o
[113.28mm ] [51.05mm] [51.05mm] U ™ O
Bearing OD 7 Bearing OD
Y Y
@ 1.750in P 1.875in
| @ .562in[14.27mm | ¥ 2.187in[ 55.54mm | [44.45mm ] — - [47.63mm] | -
—3/8 NPT Bearing ID ‘ Bearing ID
A<J ?J ' @ .725in[ 18.42mm | X 90°, NEAR SIDE
FRONT VIEW @ 530in[1346mm| THRU ALL RIGHT VIEW BACK VIEW
3/8 NPT
SCALE: 1:1.5 . SCALE: 1:1.5 SCALE: 1:1.5
' @ .725in[ 18.42mm | X 90°, NEAR SIDE SECTION A-A
SCALE1:1.5
.880in
[22.35mm | ! W
| * 1.000in
©~\ F [25.40mm |
T | @ .313in[7.94mm] T .760in[ 19.30mm | % i ©2.260in
| ———3/8-16 UNC - 2B ¥ .750in[ 19.05mm] %E 7, [57.40mm]
v @ .425in[ 10.80mm | X 90°, NEAR SIDE $2.760in
©\ @ [70.10mm |
SECTION B-B ®2.010in
SCALE1:1.5 [5] .OSmm] Copyright 2013 - Infinity Turbine, LLC - Turbine/Housing Covered Under Patents: 7146999, 7726331
OTTOM VIEW 2X @ .313in[7.94mm] T .580in[ 14.73mm | e —— INEINITY
SCALE: 1:1.5 3/8_] 6 UNC - 28 V .750“’1[ ] 9'05mm] SECTION C-C DIMENSIONS ARE IN INCHES DRAWN Eddie (3/20/2013
* D . - TOLERANCES:
N\ @ .425in[10.80mm ] X 90°, NEAR SIDE SCALE]:15 O e 01 50D+ [ TURBINE
THREE PLACE DECIMAL + 0002 | v APPR TITLE:
INTERPRET GEOMETRIC QA. 2013 ITRm Assembly
TOLERANCING PER: ANSI Y14.5 COMMENTS:
PROPRIETARY AND CONFIDENTIAL MATERIAL SIZE |DWG. NO. REV
e e B D | e sseney
OF IENIT TURBIE LC K PROHBITED. APRLCATON DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1

8 7 ) 5 f 4 3 2 1




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View7
	Section View A-A
	Section View B-B
	Section View D-D
	Section View C-C
	Detail View E (2 : 1)
	Detail View F - Front Bearing (2 : 1)


